< 00, > (M)

RatioI

<opyp, > ()

<o @> (rad)
o
=
a1

o
[N

o
N

..........................

..........................

o
T

107 1

2 3
TPlpoT (PCA t%obeamlinélf)

~ F
D F
50.15_— """""""""""""""""""""""
(&) o
e o . 2 A
v 0.1:— """""
O R B B R T
4 [ SR e
—0.05f -+ e-seeeeif e b b s
S0 OSSR 1 [ RO N e SR
T B B S SESTTTE e
_9_-0\»’2- 1 ||||||! 1T, |||||||! EEERTIT

o
T

0.95

107

1

—=— DQM_V0001_R000000001__Global_mKkFit10000__RECO
—— DQM_V0001_R000000001__Global__mkFit1000__RECO
—— DQM_V0001_R000000001__Global__mkFit1000ATime_ RECO

100r

®
o
I

)
ko]
[

20+ eitH

..........................

.........................

.........................

1071 1

5: H H

e 1
BE iy | S T
SN 1111 . S
lE— """"" £ E"“ """"""""""""
S |11 —
I - -
| SRR 11 SRS B
| R 11 RS R
I 1 1 T
B o e

1071 1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

= 100

RatioI

0.95

1



	Contents
	Page 1


